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(RP)THAIH :f%‘/’gﬂou;” s : . 2.50 230
(lRP)osm:f%‘/’%ﬂou;/ZE : : 2.10 1.20
(lRP)ﬂ@ﬁ::%‘/’S?\cu;BE : . 2.00 2.00
(RP)AIBHA :f%‘/’gﬂou;” : : : 2.90 2.50
(RP) ISR :fﬂ‘/’g?\ou;” s : : 2.70 |
(IRP)SHS} & j;%‘/’g?wﬂ;/m x : 2.70 2.00
(lRP)@ﬁrx;f:‘%/’SHMI;/SE" - ZAOO : 3.00
(IRP)§F§}X1::E:'"/§7\O1IJ = I : 2.50 2.70
(RP)EBH :j"o“/’é!w;” . i : 250 2.70
(lRP)DBH:(f_%‘/’g?\OHE/ZE : : 7 3.00
(IRP)DBH::E:"‘/’gﬂOﬂ;/BLj - E 2.60 3.00
(IRP)JmO“;:%ng"; =] 34 2.80 220 3.00
(IRP)JTHOHH:%%‘/W‘O?/JZE T8 180 2.10 -
(RP)JTEIO1 R I%%‘/’gw;” 2 - : 2.85 2.55
(IRPEOW:(?%‘@;‘O";/ZE I 2.70 285 210
(lRP)EorHIE?‘/’gﬂOﬂ;BE : : 1.85 |
(IRP) 2 OF X :Ef""/’gﬂoﬂiﬁ q r - 1.35 2.85
(RPYETA :E%“/’s;;\ml;/ZLj = : 2.70 2.85
(RP)OIFER :tso“/’gﬂ(HI;/slﬂ : : 2.30 1.85
(lRP)oM%.l;ﬂ:%Eo"/’g7\01;/1Iﬂ i : 2.95 135
(lRP)oH%l;l*f Eo“ﬂgﬂoﬂi/mg i 2-30 2.45 3.00
(lRP)oH1=+§x1:%§§/§7|01|I:J/67H$éJ o - 2.15 2.50
(IRP)OH%;X1:%BO”/§7IO1|;/1 5 i : 2.75 3.10
OREL 15 28/31 Oilz/2 5 . : 2.50 2.60
(lRP)J_a1J<1:ff°"/’é‘7\01|;/3Lj : : 2.30 2.30
(RP)ZEIX] :E"o"/’gﬂoﬂiﬂ 5 o : 3.05 3.00
(IRP)Wlﬂarxﬂ‘_fso"/’g?\01|;/2Iﬂ . 2-60 2.10 2.50
(lRP)Oﬂ7r;x1:%§§/§7|Oilljj/sIﬂ : 2-50 2.50 2.30
(IRP)01|7P;X1:%30“/§7|01|;/1 . T . 3.05 3.05
(lRP)?\%qTAH%so"/ﬁ?IOi ;/25 . - 2.60 2.10
(IRP)ﬂ%OﬂIH”fT%%"/Kéﬂ T : : 2.50 |
(IRP)9\%01|:K1=’-<1-%%“/§7|0“;/1 ] T . 3.01 3.15
(|RP)$E|::7‘1§%%"/§7 CEYE — - 2.75 |
(lRP)%e@f’“%%%"/’é?lOHBE : : 2.45 2.50
(IRP)-‘?—EISLSX1-—’-‘1-%3O“/’§7:°“§/W g = : 3.20 3.05
(RP)DIH 01|T1|§X1§%%“/§7| 0";/2 5 . : 2.00 2.75
(IRP)D| 2 Oiﬂfj/%awagﬂw e - - : 2.45
(‘RP)DlEHWI:;E-H/%E\%EC;ELBB;H% 34 2.85 2.95 3.10
(RP)OIF wﬁ.iﬂ%aa;fﬁ*m g T . 2.40 2.70
(IRP)NHEHAzsaJ/%a\ag;ELB/zg 13 2.00 240 2.60
(lRP)NH%IfE/%alagxf’ELB/SLJ = . 2.85 3.05
(lRP)NH%XfEﬂ/% EE] ;xELB/”Hg = . : 2.40
(lRP)NH%Irfﬂ/% a|ag§ELB/1 g T : 2.00 2.40
(‘Rp)ﬂé}%x;ﬂ/% = %E;ELB/Z E] e 2.82 2.85 2.85
(\RP)MB_P%MB}/%E\QES ELB/3 = ; 2.85 2.00
EEW&Q%@E@E%J&SNH% 35 . 2.90 2.00
PASERS CEEDTS, B/ i . 2.90 2.90
(lRP)KB%:u/Oﬁ/%a\agfr?%ﬁ s 2.81 : 2.90
(IRmKB%:uELE‘EEQEL;SI;BGE 24 2.83 279 2.95
(lRP)KBé;T/ EEEELAE - 35 : : 3.00
(lRP)KBé;T/ g a|azigm/1 : i . 2.81 2.79
(IRP)H EHX};;EJ 2| %i’gELB/Z 5 : . 2.85 2.79
(RATAE S f,/%a\azw/gﬁ : : 2.85 2.84
(IRP)EHHZ::/EJEI%LE’S:L B - : 2.90 2.86
(IRP) cuué%{{ 2zl gzﬂgmm - 15 : 2.91 2.88
uRP)zwéf.ﬂa\azQasLBﬁ ; i : : 2.88
uRP)zHUQ;Tj/ #lel %EQEL/ o . - 2.79 2.93
(lRP)s+Lr§°w7Qﬂ a|%z§a§/25 e - : 2.98
uRP)srer}Eia%zQELB o - - 2.80 2.79
uRp)sm;;/f a@ngL/ ] i . : 2.79
(IRP)B'}Lf;:‘:/f E|%EQELB/1 : i 2.90 : 2.83
(lRP)gggoif,ﬂ 3 %EQELB/Z : : . : 2.86
(IRP)'&.*’&Z:IjEiEI%EQELBB/sﬁ - 2.85 : 2.90
(IRP)'E.“:;‘;_;/EJ a@ngL/ ] i : : 2.90
uRP)AE.*gQ;T/? EI%E’E—,‘ELB” : i : | 2.90
(lRP)DBzQ;:T/}J 3l %EQELB/Z 5 : . 2.88 2.90
(lRP)DBQ;Z/f A ZEREL o : : 2.88 290
(IRP)?\%‘DZ;jEi,EI—S‘EQDLlBS/1 = : : 2.92 |
uRP)a\gQ;T/f EETE S : . 2.92 |
GRS EEECE i r : | 2.90
ot ;;/% = %EHELB/z E] FTE] 2.93 2.79 2.95
(|RP)oro|S:;ﬂ/%a\a;xﬁ%ﬁ = : 2.80 295
EEEE ;ﬂ/%a\az:*am 5 n : 2.80 m
] oﬂ/%a\%E;ELB/Z‘S S ; 2.88 2.79
SELB/34 o . 2.88 2.84
e 2.50 . :
2.50 . 2.96
2.50 . 2.96
: 2.90
. 2.50
2.80 .
3.00
2.90
2.90




(RPRESH/Rl2| 32 YELB/1E 14 2.85 2.95 293

(RP)IE S H/A2|ZEEDLE/1E 14 2.85 2.95 2.93
(IRP)BNKEAHS #/ el 3 2 FELB/37H & 3hg 2.80 2.50 2.60
(IRP)BNKEAHS #/ el 3 2 FELB/67H & 674g 2.80 2.50 2.60
(IRP)BNKEAHS #/el3 2ZDLe/37HE 3hg 2.80 2.50 2.60
(IRP)BNKEAHS #/¢el 3 2ZDLe/67HE 674g 2.80 2.50 2.60

(IRP)BNKE XS /2l 3 2 FELB/1d 14 2.70 2.85 2.85
(IRP)BNKEAHS #/¢lel 3 2ZDLB/14d 14 2.70 2.85 2.85
(IRP)BNKE XS /2l 3 2 FELB/2d 2d 2.60 2.80 2.80
(IRP)BNKEAHS #/¢ 2l 3 2 ZDLB/2E 2d 2.60 2.80 2.80
(IRP)BNKE XS /2l 3 2 FELB/3d 34 2.60 2.80 2.80
(IRP)BNKEAHS #/¢2l 3 2 ZDLB/3E 34 2.60 2.80 2.80
(RP)IBKEAHS #/2lel 3 2 ZELB/3HE 37 2.90 2.75 2.70
(RP)IBKEAHS #/2lel 3 2 ZELB/67HE 671 2.90 2.75 2.70
(IRP)IBKEAHS #/8l2| g 2 YELB/1H 14 2.95 2.80 2.80
(IRP)IBKEAHS #/8l2| g 2 YELB/2H 2d 2.60 2.50 2.80
(IRP)IBKEAHS #/8l2| g 2 YELB/3H 34 2.60 2.50 2.80
(RP)REEXS A/l FETELL/1H 14 3.00 2.90 2.95
(RPREFAIS A/l S 2 ZELB/2E 2u 2.95 2.85 2.90
(RPRIFAIS A/Ye| S 2 ZELB/3E 34 2.95 2.85 2.90
(RP)SKE H/R2l S 2 HELB/37HE 37hg 3.20 3.10 3.05
(RP)SKE H/H2l S 2 HELB/67HE 6718 3.20 3.10 3.05
(IRP)SKS /2| S EHELB/1E 14 3.20 3.10 3.05
(IRP)SKS /2| S EHELB/2E 2u 3.20 3.10 3.05
(IRP)SKS /2| S EHELB/3E 34 3.20 3.10 3.05
(RP) It RIS #/2| S 2 ZELB/3NE 37hg 2.84 2.66 2.56
(RP) It RIS #/e| S 2 ZELB/1E 14 2.85 2.87 2.91
(RP) It RIS #/l2| 3 2 ZELB/2E 2u 2.85 2.75 2.96
(RP) It RIS #/l2| 3 2 ZELB/3E 3d - 2.75 2.96
(RP)HE| A E /el ZFEYELB/1E 14 2.60 2.60 2.60
(RP)HE|AE /el FEYELB/2E 24 2.60 2.80 2.90
(RP)HE| X E /el S EYELB/3E 34 2.85 2.90 3.00
(RP)HE| A E /el FEYELB/SE 54 2.85 2.90 3.10
(RP)H2| X Z#/2e| S L ZDLB/1E 14 2.60 2.60 2.60
(RP)O2| X F5#/2le| S 2 ZDLB/2E 24 2.60 2.80 2.90
(RP)I2| X2 F5#/2le| 2 EDLB/3 34 2.85 2.90 3.00
(RP)H2| X F5#/2le| S L ZDLB/5H 54 2.85 2.90 3.10
(IRP)ROIEIS /Al S EHELB/1E 14 2.85 2.70 2.66
(RP)ROIEHS M/l S EEDLB/1E 14 2.85 2.70 2.66
(RP)FEEXS /2| S 2IDLB/1E 14 3.00 2.90 2.95
(RPREEASH/EZEEDLBR2E 24 2.95 2.85 2.90
(RPREEASH/EZETDLB/3E 34 2.95 2.85 2.90
(RP)ZESCIAH /0| EESHEH/NE 14 2.72 2.95 2.91
(RP)ZESCIAH /0| SRS/ 2H 24 2.74 2.85 2.86
(RP)ZESCIAH /0|82 S /3 34 2.76 2.70 2.82
(RP)ZESCIAH/ 0| SRS EH/4H 44 2.10 2.10 2.10
(RP)ZESCIAH/O| SRS E/5H 54 2.10 2.10 2.10

(RP)ZEHEE/0I2E5HESE/1H 14 2.81 2.91 3.01

(RP)ZEHEE/OI2E5HES/ 2 24 2.55 2.55 2.65

(RP)ZEHEE/0I2E5HEH/3H 34 2.55 2.55 2.65

(RP)ZEHEE/0I2E5HE /4 44 2.50 2.50 2.60

(RP)ZEHEE/0I2E5HES/5H 5 2.50 2.50 2.60

(IRP)DBEE/0|EESHEE/3H 34 2.65 3.15 270

(IRP)DBEE/O|EETHET/5H = 2.60 3.10 2.60

(RP)EAH/0| S 2SS =S/1d 14 2.60 2.60 2.60

(RP)EAH/0| S 2SS =S/ 2 24 2.70 2.70 2.70

(RP)LEA /0|22 SH =33 34 2.75 2.85 2.85

(IRP)LEAH/0| 8255 =3/51d 5 2.70 2.70 2.70

(RSN H/OI2ESHES/1H 14 2.71 2.81 2.81

(RSN H/OI2ESHES 2 24 2.71 2.81 2.81

(RSN /0|22 5HES/3H 34 2.71 2.81 2.81

(RP)SZEY/0|gRTHEEH/5H 54 2.66 2.76 2.76
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